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(x(; = 2z — 3,
xr) = —x+2,
) = (1/3)z + 1.

Jy=2r—-3ey = —x+2,
Jy=2r—-3ey = (1/3)x +1,
Jy=—-x+2ey = (1/3)z+ 1.

(4) Tracciare il grafico della funzione e trovare i punti intersezioni con ’asse orizzontale

y=0:
(a) fz) = a* -4,

(b) g(x) = 2® + 2z — 5,
(c) h(z) = 22% — 3,

(d) k(x) = 22* + 4z — 6.

272 — 2 e g(x) = v +1,

ei

)

x) == +2:z:—1eg(x) = br — 3,
) =

) =22 +4x —1leg(r) = 3z —2.

(x) :x2—|—1eg(x) = —222 4+ 10,

(r) = 2*+2x —leg(x) = —a? + 4w — 1,
() = 222 =2 e g(x) = 22 — 2v + 1,

(r) = 222 +4xr —leg(x) = 222 — 1.



